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e Please check that this question paper contains 11 printed pages.

‘s Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

o Please check that this question paper contains 32 questions.

o Please write down the Serial Number of the question before
attempting it. '

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 am,, the
" students will read the question paper only and will not write any answer on

- the answer-book during this period. :
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General Instructions :

(1) All questions in both the sections are compulsory.
(ii)  Marks fo}' questions are indicated against each.

(ii)  Questions No. 1- 5 and 17 - 21 are very short-answer questions carrying
I mark each. They are required to be answered. in one sentence each.

(iv)  Questions No. 6- 10 and 22- 26 are short-answer questions carrying
) 3 marks each. Answers to them should normally not exceed 60 words
each.

(v)  Questions No. 11 - 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not. exceed
70 words each.

(vi)  Questions No. 14 - 16 and 30 - 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each. ' -

" (vit)  Questions marked star (*) are value-based qitestions.

(viii) Answers should be brief and to the point and the above word limit should
be adhered to as far as possible. ~
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SECTION A

#1, W%@Wﬁaﬁ%ﬁﬁrmwwaﬁ% |mwaﬁm%
ey H geehT AR Yo AT | , 1

Large number of technical training institutions have been started by the
government. State ifs economic value in the context of productlon
possibilities frontier.

2, Waﬁmaﬁm | y ' L 1

Define utility.
3. thediermsmofsmel 000 1

Give the meaning of variable cost.

4, SUE GO BT AR . o

Define production function.

5.  HEATT SICTHR ¥ o AT R ? - 1

" What is meant by collusive oligopoly ?

6. mmaﬁﬁ%aﬁaﬂtmmﬁ@m%?ml | | 3

Why is a production possibilities curve downward sloping ? Explain.

7. w9 T 9eg 6 I T 15 TR 398 ¥ me T 12 IR SR & Il R,
Toeht i 25 Wi 1 gy A ¥ | 7 A Hiw @ w@ HT | 3
‘When price of a good falls from ¥ 15 per unit to T 12 per unit, its

~ demand rises by 25 percent. Calculate price elasticity of demand.
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11.
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How does change in per umt tax influence the supply of a good by a
firm ? Explam

: OR .
How does subsidy influence the supply of a good by a firm ? Explain.

~

wﬁ%&fﬁ:ﬁﬁ%w&r(m)aﬁa%w@(m}%
W@?ﬁ%?ml

Under what market condition does Average Revenue always equal
Margmal Revenue ? Explain.

qesugfgﬁafnwﬁmﬁﬁmm%mﬁmw;

Explain the 1mp11cat10n of large number of buyers in a perfectly
compet1t1ve market.

agm%gq%wwﬁm%aaamﬁaﬁemmﬁnw% 3crzhﬁa1
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‘Assuming that a consumer consumes only two goods, explain the

condltlons of consumer’s equilibrium with the help of Ut111ty Analyms

v OR
A consumer consumes only two goods X and Y and is in equilibrium.
Show that when price of good X falls, demand for good X rises. Use
Utility Ana1y31s




12. @ma@ﬁiwma@ﬁwmlwwmsﬁ%@
wﬁm%%‘q‘aﬁm% wmﬁ%maﬁm@?ﬁ%?ml 4

Dlstmgulsh between an inferior good and a normal good. Is a good which

is inferior for one consumer also 1nfer10r for all the consumers ? Explam

13. mﬁw@%ﬁm%wwmﬁqﬁaﬁ?%ﬁﬁﬁﬁwml
| i@ﬁﬂmmﬁﬁql : 4

State the different phases of change in total product according to the
Law of Variable Proportions. Use diagram.

A P v e g el 3 o v G 13 F S R E |

Note : The following question is for the Blind Candidates only in lieu of |
Q. No.13. :

qﬁaﬁagtmﬁwﬁaﬂm@l - - V ~ 4

Explain the Law of Variable Proportioﬁs.

- 14. -Wﬁwﬁ@wﬁmwﬁsﬁmaﬂtgwéﬁ%

Shfe Twee | , . , 6
| ST

sAfmE Tt B A et 6t swE ST |

State the conditions of consumer’s equilibrium in the Indifference Curve

Analysis and explain the rationale behind these conditions.

OR

Explain the three preperties of the Indifference Curves.
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15. mwﬁ%a&ﬁﬁw&r@ﬁwﬁ aﬂtrmwnaaﬂuﬂtrmwrfﬁ (mH) *
IR TR BH T T ST ;lm“'ﬁﬁrQ | RO AT | T4 Ieqred T

ol T i | - 6
e Hl TEIH (I1TH) FA A
() | ) | )
1 | 8 10
2 16 o 18
3 24 23
4 32 | 31
5 40 4

From the fbllowing information about a firm, find the firm’s equilibrium
output in terms of marginal cost and marginal revenue. Give reasons.
Also calculate profit at this output.

Output Total Revenue Total Cost
(units) () . 69)

1 | 8 10

2 16 18

3 24 23

4 32 31
b 40 41

16. wﬁ@aﬁ%‘qﬁaﬁw’éwm%?MW‘a@aﬁwm
TS STl SHTG hl T FHAEY | TG 1 SwrT i | 6

What is ‘excess demand’ for a good in a market ? Explam its chain of
effects on the market for that good. Use diagram.

Te:  FERIRET e Fae gfegia whemferat & forg o7 GEar 16 % ST W B |
Note : The following question is for the Blmd Candidates only in lieu of

Q. No. 16.
wﬁwm%ﬁnwﬁw ﬁwaﬁqsrm%‘)ga%ma@%wm
q@a@mﬁmmlmmmaﬁml ~ 6

‘What is ‘excess demand’ for a good in a market ? Explam its chain of
effects on the market for that good. Use a schedule.
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| SECTION B
17. 9 9% 9 o AT R 2
‘What is a central bank ?
18. Ty arefome § ‘srwreh Wit w1 a1 ey |

Give meaning of ‘deficient demand’ in macroeconomics.

19, Ty SR i AR SR 1 | o
Define aggregate supply. | ‘
20, e uE @A ? | | 1

What is ‘primary deﬁmt’ ?

21, a@ﬁ%%ﬁmﬁ%mwaﬁwaﬁwm%f .

What is excess of exports of goods over the imports of goods called ?

22. Maifw AR ¥ w0 IR § 2 EE T Ieew AR R TEh wEa
%sﬁam%vﬁﬁ%w%w%mﬁ@nmmﬁw
Hif . | 3
What are non-monetary exchanges ? Give an example. Explain their

-impact on use of gross domestlc product as an ‘index of welfare of the

people.
23, a‘g'ra;r‘marﬁaw?ﬂm’mﬁml | . 3
CLEL
TS 1 ed G B WHATT | |
Explain the ‘standard of deferred payment’ function of money.
OR

Explain the ‘store of value’ function of money.
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25.

26.

27.

28,
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Giving reason, state whether the following is a revenue expenditure or a

capital expenditure in a government budget :

® Expenditure on scholarship_s

(i1)  Expenditure on building a bridge

TTeTET Rp T Sqe Trer fR R AT S R |

How is balance of payment ‘deficit’ measured ? Explam

m%wﬁwm%?ww% W@WM| YHTE TS Hehdl
3 AR KA ?

What is depreciation of Rupee ? What is its likely impact on Indian

imports and how ?

T TR ST SR 3R S6% HeH AT |

T S T L TR HE wHeEy |

Explain the concept of money supply and its components.

OR ,
Explain the ‘currency authority’ function of central bank.

s, St B wgem § 3, % W A el stedl 3

(TTET) AT S ST Tiehet ShIT -
TS I o= 900
Fﬁtrraaaauqﬁi = 010

ECH = | = 80




Calculate ‘Autonomous Consumption Expenditure’ from the following

data about an economy which is in equilibrium :

~ National income ' ‘ = 900
- Marginal propensity to save | = 010
Investment expenditure o= 80

*29.

TR Y TS W Rren o e 6 dan gw TeR w0 W e o
mgnamﬁmuagﬁmm&ﬁwa%m%?wmt 4

Government has started spending-moi‘e on providing free services like

education and health to the poor. Explain the economic value it reflects.

30.

e & R T T T tr@ﬁsmq’aﬁt‘ﬁ'aar@ﬁmm’

W Uiehed I - | - 42
| , L (¥ o1 §)
6 e @ e ww o L
(i) Wﬁﬁﬁ%ﬁﬂ((‘ﬂﬁ\)m 20
(i) Twgh @AW | 400
(iv) o 50
fv) A s uEEgam . 150
(vi) ﬁrzﬁaﬁgmvmﬁagtmm . B0
(vi) Teom '_  | 100
wi) = ~ 70
(o wFrRRT 6 b s . 300
) e s W e . 140
(xi) * 3T Yoft BT IO 80
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Calculate ‘Gross National Product at Market Price’ and’; ‘Net National
- Disposable Income’ from the following :

(Tin Arab)

@ Net factor income to abroad | (-) 10
(i)  Net current transfers to abr;)ad | 20
(ii1) Wages and salariesi : 400
@iv) Corporatidn taxk | ' 50
(v)  Profit after corpoi‘ation téx | 150

S (vi) Social security contributions by emﬁloyers 50
(vi)) Rent V | 100
(vii1) Interest | | Sl H0
(ix) Mixed income of self-employed 300

- (x) = Net indirect tax ; '~ 140
(x1) Consumption of fixéd capital | | - 80

31. r@amwwwﬁmﬁmﬁ@a%mwwwmw
m@?aﬁmé&mﬁqﬁmmwél

() Rl B S T
) wHFIEEEALE
(1) i:ﬂ:ﬁama;gmimﬁmm

How should the following be treated while estimating national income ?

You must give reason in support of your answer.
@ Bonus paid to employees 4 |
(i)  Addition to stocks during a year
({i}) Purchase of taxi by a taxi driver
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32.

aéﬁmmﬁﬁmmwﬁﬂ&mmlwﬁ%ﬂww

il |

Note :

AT
&quﬁnw@wwmaﬁﬁf‘maﬁa@ww |‘(@Tﬁ—:a

=7 3wE BT |

Explain national income determination through the two alternative

approaches.k Use diagram.

OR

Outline the steps in deriving saving curve from the given consumption

curve. Use diagram.

RETferea 5o FdeT gioghT ghieniefai & forg g7 7e91 32 % T WE |

The following question is for the Blind Candidates only in lieu of
Q. No. 32.
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Explain the two alternative approaches of national income
determination. '

OR
Explain the consumption function and saving function.
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